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Seat No.: ________                                                      Enrolment No.______________
  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- III

rd
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 330601            Date: 28/05/2012        

Subject Name: SURVEYING-1 

Time: 02:30 pm – 05:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

 

Q.1 (a)     Give classification of surveying with use of each type. 07 

 (b) State types of obstacles in chaining and explain any one method of 

overcoming the obstacle. 

07 

    

Q.2 (a) What is Ranging ? explain Indirect Ranging with sketch. 05 

 (b) Define the term “ Local Attraction” in compass survey. 02 

 (c)   Following bearings were observed while running a closed traverse. Correct 

the bearing for local attraction and calculate included angles. 

 

Line Fore Bearing Back Bearing 

AB 68
0 248

0
 

BC 130
0
 312

0
 

CD 252
0
 70

0
 

DA 344
0
 164

0
 

 

OR 

 

07 

 (c)        Attempt following. 

(1) An equilateral triangle plot ABC is surveyed with compass in   

clockwise direction. The Fore bearing of line AB is 100
0 

, find the 

bearing of line BC and CA. 

(2) Convert following WCB into Reduced Bearing.                              

(i) 65
0
  (ii) 115

0
  (iii) 165

0
  (iv) 195

0
  (v) 245

0
 (vi) 295

0
 

07 

    

Q.3    
(a)   

Explain different types of Bench Marks used for leveling. 04 

 (b) 
 

 
(c) 

Differentiate Internal Focusing Telescope and External Focusing 

Telescope. 

Following readings were taken with a dumpy level and 4M leveling staff 

on a continuously sloping ground. 

1.100, 0.950, 1.400, 1.980, 2.600, 3.475, 3.860, 0.420, 1.560, 2.200 

First reading was taken on a BM having RL 152.00.  Find RLs of all points 

by HI method. Apply arithmetic check.    

03 

 

07 

   

OR 

 

 

Q.3 (a) Explain follwing terms.( any five ) 

1. Line of collimation   2. Reduced Level  3. Back sight  4. BM 

    5.change point. 6. Vertical line  7. Cotour interval  

05 
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 (b) What is contour ?   Enlist  uses of contour map. 05 

 (c) Draw contour lines for the following. 

1. Hill    2.  Pond   3. Vertical  cliff    4. Overhanging cliff. 

04 

    

Q.4 (a)   Explain merits and demerits of Plane Table Survey. 04 

 (b) 
(c)     

State methods of Plane Table Survey and explain Intersection method. 

Explain temporary adjustment of level. 

05 

05 

 

  OR  

Q.4 (a) Write short note on the following  ( any two ) 

1. Line Ranger  

2. Characteristics of contour line. 

3. Correction due to curvature of earth and refraction. 

07 

 (b) Classify errors in leveling and explain in brief. 07 

    

Q.5 (a)    Explain different axes of Theodolite with its interrelationship.   07 

 (b) State the functions of following in respect of theodolite. 

1. Clip screw   2. Telescope  3. Shifting  head  4. Lower plate screw.     

5.  Vertical circle   6.  Tangent screw   7. Clamping screw.    

07 

  OR  

Q.5  Attempt  following ( any Four ) 14 

  
 

1. Methods of measurement on sloping ground. 

2. Differentiate WCB and Quadrant Bearing system. 

3. Uses of theodolite. 

4. Orientation in plane table survey. 

5. Define  face left observation, face right observation, transiting and 

swinging of theodolite. 

6. Differentiate HI method and Rise & Fall method. 

 

 

************ 

 

5|`Gv!5|`Gv!5|`Gv!5|`Gv!    અ    સવ��ણ � વગ
કરણ કરોુ  અને દરકનો ઉપયોગ લખો� . 0૭૭૭૭ 

 બ    સાકંળ વડ �તરમાપણીમા ંઆવતા અવરોધો લખો અને અવરોધ %ર � ૂ

કરવાની ગમે તે એક ર(ત સમ)વો.  

0૭૭૭૭ 

    

5|`G 5|`G 5|`G 5|`G ZZZZ    અ   આરખણ � ની *યા+યા આપો. આ,િત સાથે *ય/ત આરખણ સમ)વો� . 0૫૫૫૫ 

 બ   કંપાસના સદંભ2મા ં/થાિનક આકષ2ણની *યા+યા આપો.4  0૨૨૨૨4444 

 ક એક બધં માલારખણ કરતી વખતે લી� ધેલ અવલોકનો નીચે 7જબના છેુ .    

/થાિનક આકષ2ણ માટ બેર;ગમા ં<ધારો કર( �તગ2ત =ણૂાઓ શોધો� ુ .  

૦૭૦૭૦૭૦૭ 

 

 

 
 
 
 
 
 
 

       
રખા�  અA બેર;ગ  પB બેર;ગ 

AB 68
0 248

0
 

BC 130
0
 312

0
 

CD 252
0
 70

0
 

DA 344
0
 164

0
 

    

અથવા 
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 ક નીચેના જવાબ આપો.     

૧....  એક સમબાD િEકોFણય Gલોુ ટ ABC ઘIડયાલની Iદશામા ંકંપાસ Jારા 

સવ�    કરલ છે� . જો રખા � AB � ંઅA બેર;ગ ુ ૧૦૦૧૦૦૧૦૦૧૦૦0     હોય તો રખા � BC અને CA 

ના  બેર;ગ શોધો. 

૦૭૦૭૦૭૦૭ 

       ૨. નીચેના Lણૂ2Mત બેર;ગને લN Oપ બેર;ગમા ંફરવોૃ ુ � .  

(૧) ૬૫૦  (૨) ૧૧૫૦ (૩) ૧૬૫૦  (૪) ૧૯૫૦  (૫) ૨૪૫૦  (૬) ૨૯૫૦ 

 

5|`Gv#5|`Gv#5|`Gv#5|`Gv#    અ    Dદા Dદા Xકારના તલFચYહ સમ)વોુ ુ . 0૪૪૪૪ 

 બ    ZતIરક નાFભયન અને બા[ નાFભયન ટલી/કોપ વ\ચેનો તફાવત � જણાવો.   0૩૩૩૩ 

 ક  ૪ મી. તલે�ણ દંડ તથા ડપંી લેવલ Jારા સતત નીચે તરફ ઢાળ વાળ( 

જમીન પર નીચેના વાચંનાકંો લેવામા ંઆવેલ હતા.      

૧.૧૦૦,  ૦.૯૫૦,  ૧.૪૦૦,  ૧.૯૮૦,  ૨.૬૦૦,  ૩.૪૭૫,  ૩.૮૬૦,  ૦.૪૨૫,  

૧.૫૬૦,  ૨.૨૦૦.  Xથમ વાચંનાકં તલFચYહ પર લીધે`ં,ુ aની સાપે� 

bચાઇ ૧૫૨.૦૦ મી. હતી. તો        સમાતંરણ તલની ર(તથી દરક Fબd%ની સાપે� � ુ

bચાઇ શોધો.      

૦૭૦૭૦૭૦૭ 

                                  અથવા   અથવા   અથવા   અથવા     

5|`Gv#5|`Gv#5|`Gv#5|`Gv#    અ  નીચેના પદો સમ)વો. (ગમે તે પાચં)  

(૧) સમાતંરણ રખા � (૨) સાપે� bચાઇ (૩) પeાવલોકન (૪)તલ FચYહ (૫) 

Iદશા બદલ Fબd% ુ (૬) ઉfવ2 રખા � (૭) સમો\ચરખા નો ગાળો� . 

0૫૫૫૫ 

 બ    સમો\ચ રખા એટલે g ં� ુ ?  સમો\ચ રખાના નકશાના ઉપયોગો લખો� . ૦૫૦૫૦૫૦૫ 

 ક  નીચેના માટ સમો\ચ રખા દોરો� � . 
       
૧. ટકર(   � ૨. તળાવ  ૩. ઉfવ2 િશલા  ૪. લટકતી િશલા  

૦૪૦૪૦૪૦૪ 

5|`Gv$5|`Gv$5|`Gv$5|`Gv$    અ   સમપાટ સવ��ણના ફાયદા-ગેરફાયદાઓ જણાવો. ૦૪૦૪૦૪૦૪ 

 બ  સમપાટ સવ��ણની ર(તો લખો અને પર/પર છેદનની ર(ત સમ)વો. ૦૫૦૫૦૫૦૫ 

 ક  લેવલ� ંહગંામી સમાયોજન સમ)વોુ . ૦૫૦૫૦૫૦૫ 

     અથવાઅથવાઅથવાઅથવા  

5|`Gv$5|`Gv$5|`Gv$5|`Gv$    અ  નીચેના પર jંક નkધ લૂ ખો. 

૧. લાઇન રજરl  

૨. સમો\ચ રખાની લા�Fણકતાઓ� .                 

૩. Lmnવની ગોળાઇ અને વo(ભવનનો <ધારોૃ ુ .  

૦૭૦૭૦૭૦૭    
 

 

 બ  તલે�ણમા ંઆવતી pટ(ઓ� ંવFગqકરણ કર( jંકમા ંસમ)વોુ ુ ૂ . 0૭૭૭૭ 

    

5|`Gv55|`Gv55|`Gv55|`Gv5    અ  થીયોડોલાઇટમા ંઆવતા Dદા Dદા અ�ો સમ)વો અને તે વ\ચેના ZતIરક  ુ ુ

સrબધ જણાવો.  

૦૭૦૭૦૭૦૭ 

 s ્ થીયોડોલાઇટના સદંભ2મા ંનીચેનાના કાયu લખો. ૦૭૦૭૦૭૦૭ 

  ૧.  mvલપ /,   ૨. ટFલ/કોપ   � ૩. /થાનાતંર શીષ2  ૪. નીચલી Gલેટનો /,         
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૫. વIટwકલ સક2લ ૬.  મદં ચાલક  /,   ૭.  vલેxrપગ /,  
  અથવાઅથવાઅથવાઅથવા  

5|`Gv55|`Gv55|`Gv55|`Gv5     નીચેના જવાબ આપો. ( ગમે તે ચાર ) ૧૪૧૪૧૪૧૪ 

 ૧. 

૨. 

૩. 

૪. 

૫. 

  

૬.  
 

 

ઢાળ વાળ( જમીન પર �તર ની માપણીની ર(તો.                     

Lણૂ2Mત બેર;ગ અને  Mત પાદ બેર;ગ વ\ચેનો તફાવતૃ ૃ  

થીયોડોલાઇટના ઉપયોગો.                                                                                     

સમપાટ સવ��ણમા ં“Iદv/થાપન” 

*યા+યા આપો . ડાબી બાDના અવલોકનોુ , જમણી બાDના અવલોકનોુ ,   

                 ટFલ/કોપ� સoંમણ � ુ , ચલન.   

એચ.આઇ.ની ર(ત અને ચઢાવ ઉતાર ની ર(ત વ\ચેનો તફાવત 

 

    

 

************ 

 


